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Which of the following best
describes what is meant by
‘formative assessment’?

A.

IS based on the student’s
attitudes, interests and
values

IS designed primarily to
evaluate learning

Is usually high-stakes

provides information to
modify teaching and
learning*

Y4 ¢ jsad YA

A teacher uses a strategy

called 7Thumbs Up,

Thumbs

Down with her students. This
illustrates the use of:

A.

B
C.
D

affective assessment
Formative assessment*

Diagnostic assessment
Summative assessment
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According to Piaget’s theory of
cognitive development, what is

‘accommodation’?
A. The ability to think logically

B. The diminishing of a response to
a frequently repeated stimulus

C. Altering one’s existing schemas
as a result of new information*

D. An inability to understand
perspectives besides one’s own
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After Sarah learned that
penguins can’t fly, she had
to modify her existing
concept of birds. This best
Illustrates the process of:

A. Accommodation*
B. Conservation

C. Habituation

D. Egocentrism
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Which of the following A nurse is making a home visit to a 75-year old
L : male who has had Parkinson’s disease for the

assessme_nt_ ﬂndmgs_ = past five years. Which of the following has the

characteristic of a client greatest implication for this client’s care?

with Parkinson’s A. The client’s wife tells the nurse that the
disease? grandchildren have visited for over a month.

A Night blindness B. The nurse notes that there are numerous
' S throw rugs throughout the client’s home*
B. Pain m_lpwer C. The client has a towel wrapped around his
extremities neck that the wife uses to wipe her husband’s
C. Shuffling gait* face. |
_ D. The clientis sitting in an arm chair, and the
D. Incontinence nurse notes that he is gripping the arms of
the chair
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Regina has an illness that makes it difficult to breathe. She hears on the
radio about a medicine that has helped many people for their breathing
problems. How sure can Regina be that the medicine does not have

any harms?
A) It is not possible to say. However, medicines are rarely harmful

B) Not very sure, because all medicines may harm people as well as help
them

C) Very sure, since the medicine has helped many people, it is unlikely
that it also harms people
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e Find a pair that is similar to the given pair of
numbers:- 180:90

(a) 64 : 37
(b)2:1

(c) 23: 10
(d) 137 : 112
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2) Alice, Barbara, and Charles own a small business: the Chock-Full-o-Goodness Cookie
Company. Because Charles has many outside commitments and Barbara has a few, Alice tends
to be most in touch with the daily operations of Chock-Full-o-Goodness. As a result, when
financial decisions come down to a vote at their monthly meeting, they have decided that Alice
gets 8 votes, Barbara gets 7, and Charles gets 2-with 9 being required to make the decision.

According to minimum-resource coalition theory, who is most likely to be courted for their vote?
a) Alice b) Barbara c) Charles d) No trend toward any specific person.

In the scenario in question 2, according to minimum-power coalition theory, who is most
likely to be courted for their vote?

a) Alice b) Barbara c) Charles d) No trend toward any specific person.
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Ebel & Fresbie (1986)

Table |. Discrimination power of the answers according to their D value

= Quality Recommendations
> (0.39 Excellent | Retain
030 - 0.39 | Good Possibilities for improvement
0.20 - 0.29 | Mediocre | Need to check/review
0.00 - 0.20 | Poor Discard or review in depth
< -0.01 Worst Definitely discard
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